
M2 RECOIL COMPLETE
RACER PACK

INSTALLATION INSTRUCTSIONS:

This Racer Pack comes complete with all 
mounting hardware, and Handshields.

These handguards provide you with the maximum amount of 
freedom combined with superior protection from the elements.

1. (Figure 1) Place 3/16" Washer onto Pivot Bolt.

2. (Figure 2) Place Bracket onto back of Shield with the end of the spring in the in-molded 
 slot on the back of the shield. (NOTE: Brackets are Labeled "R" and "L") 

3. (Figure 3 ) Push Bracket into place lining up the holes on the shield with the hole on the bracket.

4. (Figure 4) Insert Pivot Bolt with 3/16" Washer through holes on shield and bracket.

5. (Figure 5) Install 3/16" Washer, M5 Washer and Nylock Nut onto Pivot bolt and
 tighten accordingly. (NOTE: Overtightening will hinder Recoil action.)

6. (Figure 6) Slide Clamp into slot on Bracket. Install Clamp to Bracket using Phillips Head Bolts.
 (NOTE: Clamps are Labeled "R" and "L")

7. (Figure 7) Remove Philips Head Bolts that are holding both sides of Clamps together.

8. (Figure 8) Place both halves of Clamp over handlebars. Install Clamp in appropriate position.

9. Check for tightness and ensure that all controls/cables work freely and are clear of any obstructions!!! 

WARNING: M2 Recoil Handshields are designed for use on off-road motorcycles only. They are not 
designed for any other purpose or any other class of motorcycle. M2 Recoil Handshields are designed to 
protect from roost and debris. however, they may not prevent injury.

M2 Recoil is a trademark design - Cycra dba SV Plastics LLC

Figure 1 Figure 2 Figure 3 Figure 4

Figure 5 Figure 6 Figure 7 Figure 8

Right M2 Shield Left M2 Shield

Pivot Bolts

Left M2 Bracket
with Recoil Spring

Right M2 Bracket
with Recoil Spring

Right
M2 Clamp

Left
M2 Clamp

M5 Washers 3/16" Washers

Nylcok Nuts

Phillips Head Bolts

NOTE: Brackets, Clamps and Shields
are Right and Left specific.

(Brackets and Clamps are Labeled "R" and "L") 


